SACHDEVA GLOBAL SCHOOL

SA2-VII : 3/2013
SUBJECT : MATHEMATICS
Time : 3 hrs. M.M.: 80
General Instructions :
{il  All questions are compulsory.
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Q7.
Q8.

Q9.

Read all questions very carefully.
Questions 1 to 10 carry I mark each.
Guestions 11 to 18 carry 2 marks each.
Guestions 19 to 28 carry 3 marks each.
Questions 29 to 34 carry 4 marks each. -
Find the value of {6° + 3°) + [6° x 3°).
Check whether the value given in the bracket is the solution
to the given equation or not.
x=-T=5Ix=13)
How many diagonals can be drawn from a vertex in a
polygon having 8 sides?
If AABD and ACBD are congruent,
name the additional pair of 4
corresponding parts. What
criterion did you use?
When a die is thrown, what is the probability of getting an
even number?
Find the ratio of 3km to 300m.
Which is greater : 2 or 377

4
Convert 5 inlo percent.

- Write the algebraic expression for the following statement.

The sum of numbers '3’ and ‘b’ subtracted from their
product.

Q10. Find 10% of 640.
Q11. Identify the terms and factors in the expression given below :

B’ - Ty
(1)
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Q13.
Ql4.

Q15
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@17.

Q18,

Q19.

g21.

Q22,

Q23

The weights of six students (in kg) are given below 31, 32
25, 24, 26 and 30. Find the arithmetic mean.
What percentage of 2 hours is 36 minutes?

Draw a line 'T. Take a point ' outside it. Through ‘P draw
a line 'm’ parallel to line 'l using ruler and compass only.
[steps of construction are not required)

Find the value of 3m? = 2m + 7ifm = 2. 8
Ir the given figure AB and CD L :
bisect each other at 'O,
(al  State the 3 palrs of equal

parts in AAOC and ABOD.
(b} Name the congruence

criterion used.
Express the following number as a product of prime factors,

432 '
Write the order of rotation and angle of rotation in a
rectangle,
Solve the following equation and check your answer
2B=4+3[a+5]

The marks scored by 7 students of a class In a test are
given below :
37, 15, 40, 30, 58, 25, 40
Find the range, mode and median of the gi'r-ren data.

In the followling figure, AD is the
bisector of #BAC. #

‘(a)  State 3 pairs of equal

parts in triangles ADB
and ADC.

(b  Is AADB = AADC? T [
e} s £B= £C? Give reasons.

The cost of a flower vase is T120. If the shopkeeper sells it 3
at a loss of 1084, find the price at which it is sald?

Construct AXYZ given XY = 6em, £Y = 1207 and £X = 40°,
(steps of construction not required)

(2}
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[30.

Q3l.

Q32

Q33.

Sublract 2x-2y-12 from the sum of 4x-y+10 and -4

9 % 33 5 28
G x 42

Sobve the following :

A teacher tells in the class that the highest marks obtained
by a student in her class is 15 less than the thrice the '
lowest marks. The highest marks are 96. What are the
lowest marks?

Simplify :

. Simplify and find the value of the expression for y=-2

4{2y-1)+3y+11 .

. What rate gives 280 as interest on a sum of 756,000 in 2

years?

fa) Construct two equations slarting with t = -5.

b  Solve the following equation by trial and error method
Sm+2=17

Following data shows the favourite sports of boys and girls
of a school, Draw the double bar graph choosing appropriate
scale.

Lawr: tennis | Kho-Kho | Cricket | Football | Table Tennis

Bays 2 12 | ® | 1o B

Girls 45 Bl &7 6O 8

Construct a right angled triangle PQR where 2G = 907,
QR = 7cm and PR = 9cm. Also write the steps of
construction.

@7
(a) Simplily : W
{b) Express 8,428,900in standard form.

Arun brought a car for 3,50,000. The next year, price went
upto $3,70,000. What was the percentage increase of price?

Calculate the total amount to be repaid if 5,000 is borrowed
for 3 years at 14% p.a.

(3)
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Name: MM: 20 Time : 1 Hr
EACH QUESTION CARRIES 1 MARK
Tick the correct option:
Q1. The translator that converts the high language into machine language line by line.
a) Interpreter b)convertor c)Assembler
Q2.‘He authored the biographical Akbarnama.
a) Birbal b} Tenali Rama ¢) Abul Fazl
(13. Popular saying "Hitch your wagen to a star’ means
a) Aim as high as you can b}Great things take time c)MNone of these

Q4. Finland is also known as
a) The island of pearls b)The land of the thousand lakes

Name the country to which following cities belong to.
City _ Country

Q5. Venice

¢)The land of cloves

Q8. Bangkok

Identify the religion to which this symbol belongs.

i
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Fill in the blanks:

Q8. was built during medieval period in Delhi and is also the world's tallest

brick minaret,

Q9. is the Jewish festival of lights.

Q10. refers to an application involving more than one type of media,

such as text, graphics, video, animation,

Identify the countries to which the followi ng dance form belongs.

Q11. Tango~

Q12. Kodo

Name the currency used in following countries.

Q13 ltaly

Q14. Egypt

Sector - 18 A, Dwarkas, Mew Delhi — 110075 www SachdevaGlobal.in
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Identify the name of the following headgear.
Q15.

Answer the following question:

Q18. Who has been awarded with the Best Administrator of India Award instituted by K.
Karunakaran Foundation?

Q17. Which country won Davis Cup 2012 (men's tennis)?

C18. Who is the winner of Miss Universe 20127

Q19. Who is winner of Laureus sportswoman Award of year 20127

Q20. Who has been newly appointed as United Nations goodwill ambassador for UNAID?

Sector - 18 A, Dwarka, Mew Delhi - 110075 wiwrw SachdevaGiobalin
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SACHDEVA GLOBAL SCHOOL

SAZ - VI 372013
SUBJECT : COMPUTER SCIENCE =,
Time : 2 Hrs. M.M.: 50
Q1. Choose the correct answer and write It in the answer sheet:
[Gx1=6)
() The shortcut key to cut the selected data is -
la) Ctrl+2 () Cirl+C
e} Cltrl+ X dj Ctrl+aA
(i) A file of MS-Excel is called -
(a) Workbook (b} Worksheet
lc)  Cell [d) Formula

{iii) The statement used to uneonditionally transfer the
control from one point to another in QBasic program-
fa  For_Next ) GoTo ’
[e)  While_Wend (d) Do While

(v} Which one of the following is the defauli Windows
browser software -

{al  Google Chrome (b} Internet Explorer
[ch  Netscape Navigator (d)  Mozilla Firefox

(vl  The last statement in the select_case statement is -
(a] End Case (b) EndIf
€]  End Select ([d) End

[vil The output of 14 mod 3 is -

@y 4 b) 3
fc) © d) - 2.
Q2. Write one word answer for the following : (Bx1=8)

) Excel function to find largest value in a set of
numbers.,

(i) Name given to the currently selected cell in Excel,

(i) Default number of worksheets in a workbook,

livi The type of Internet connection Lhat gives us
conlinuous connectivity.

(v}

A committee that manages the World Wide Web.

(1)
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Q5.

ge.

(vi) The address given to an Internet server.

(wvii] Function key used to run QBasic program.

(vili] Give an example of high level language.

Answer the following questions in brief : (7x2=14)

[[)  What is a function? Name any two Excel functions.

[ifl Whal are the four datatypes that can be entered in
an Excel Worksheet?

(iif} Write the steps to sort data in Excel.

(iv] What Is a looping statement? Name any two looping
statements of QBasic.

(vi What do you understand by Client/Server
networking? .

(vil - What are logical operators? Give two examples.

[vi) What ts the use of While_Wend loop in QBasic?

Answer the following questlons : [4x3=12)

(Il Write the syntax of the For_next statement.

(i)  What Is a selection statement? Name two selectlon
statements used in O Basic.

(il Write QBasic program to print cube of first 10 natural
numbers. '

(iv) Write QBasic program to enter a number and print
il it is odd or even.

Expand the following terms : {4x1=4)

il ISDN (i) ISP

(i) URL (ivi KBPS

Define the following : (4x1=4)

] Cell address (il Modem

[iii) Browser Software [ivi MOD Operator

[{)  If the values in the cells are given as - Al = 5,

(i

A2 = 10, A3 = 15 then to conlinue the series upto
AZ20 which feature of MS-Excel can we use? (1)

In a spreadsheet software, what is the column
immediately next to column “Z77 (1

(2)
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SACHDEVA GLUBAL SCHOOL
SA2-VII R

o | SUBJECT : INTEGRATED SCIENCE

Time : 2% Hrs. M.M.: 80

General Instructions ;

()  This paper consists of three sections A, B and C.

(iif Marks are indicated against each question.

(i) Draw neat and well labeiled diagrams wherever
required.

PART-A (PHYSICS)

Q1. Answer the following in one sentenee each - (1x4=4)

[a)  Aniket tried to measure his body temperature using

laboratory thermometer. Will he be able to measure
the accurate body temperature? Give reason,

(b} Observe the following diagram.

aver: them
i

e® .
Why does the balloon shown in the figure get inflated?

[e)  Why is It advised to purchase electronic items with
mark?

(d)  Arushi connected an electric fron, a dryer and a
television set to a single socket. When the switch was
turned "ON’, she observed sparking in the socket.
Identify the cause of sparking.

02. Fill in the blanks : '. [1x4=4)

(a) fs used for measuring speed of wind.

{1



Q3.

04.

@5.

(b}  Air moves from a regionof ___ pressure to the
regionofl _____ pressure, i Y

[c]  Normal human body lemperature is “C.

(d) A low pressure system with very high speed winds
revoiving around it Is known as

Give one technical term for the following : (1x2=2)

(a)  Switches which automatically turn off when current
in a circull exceeds the safe [imit.

[b) - A storm which is accompanied by lightning followed
by a loud sound from the clouds.

Answer briefly : [2x3=6)
fa) )  Identify the type of breeze from the following
diagram.
(1) Define [t

iz
#P"%

el s
land

]  What is the role of advance technology in reducing
destruction caused by cyelone?

(e]  Raghav hias a white shirt and a black shirt. Which
shirt will make him more comfortable in : (1) winter
[t} summer? Give reason for your answer.

=

Answer the following : [3x2=6)
@)  The temperature of
bigger metal block X is Toue "
40°C and temperature Lm c 6oc

of smaller metal block ﬁhill n Mekal
Y is BO°C. ' X o Y

(2)
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al.

{i} Wil heat be transferred from one metal block
to the other? Justify your answer:

(i) Name the process by which the transfer of heat
will take place. '

i The bulb is not glowing in the circuit shown below
(i) Identify the problems.
{il Redraw the circuit diagram after correcting the
problems. Also show the direction of current.
Suwaibch / A_@Eﬁ"’
‘_I H f*“
(a)] Draw a well labelled diagram of an electric bell. (3)
(bl  Give reason for the following : 2)
i)  Bicycle tube overfllled with alr may burst.
() Wires used for making electric fuses should
have low melting point.
PART-B (CHEMISTRY)
Answer the following in one sentence : (1xd=4)
{a)  The iron pipes used in our homes o carry water are
galvanised. Define galvanisation.
(b)  Melting of wax Is a physical change while burning of

{c)

(d)

candle is a chemical change. Justify giving a suitable
reasorn.

Kavita's mother prepared chowmeln and used a lot
of vinegar, After eating it In excess Kavita suffered
from acidity so her mother gave her milk of magnesta.
Which acid and base have been used by Kavita's
mother? ' :
Construction of multistoryed apartments is leading
to depletion of water table, Whal is water table?

(3} k
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a5.

Fill in the blanks : - (1xd=d)
(al  Thesolutions which do not change the colour of either,

red or blue litmus are known as salutions.
bl Ozone absorbs the harmiul radiations and
breaks down to oxygen.

¢} Conserving rain water to recharge the groundwater
is referred to as

{d}  The most commonly used natural indicator litmus is
extracted from

Give a technical term for the following : [1x2=2)

fa] A reaction between an acid and a base that results in
the formation of sall and water with evolution of heat.

fb) A technique of watering plants by making use of
narrow tubings which deliver water directly at the
base of the plant. '

Answer briefly : (2x3=6)
fa] Select the odd one out glving a suitable reason

[}  Alloying, galvanisation, painting, crystallisation
(1) Litmus, ascorbic acid, phenolphthalein,
turmeric

(bl  Rajat is learning aboul water cycle in his class. His
teacher tells that water from different sources
changes into vapour form by the processes "X’ and
V", changes Into clouds and reaches the earth by the
process ‘Z. Name the processes X', Y and "Z' and
define infiltration.

e}  Iron articles are often painted to prevent rusting.
Represent the process of rusting with the help of a
word equation and state why rusting s faster In

humid weather?
Answer in detail : ; (3x2=6)
fa] () Komaltookasmall piece of magnesium ribbon

and brought it near a candle flame. When it

(4)
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Ql.

(b)

(a)

was completely burnt, it left behind a powdery
ash. Represent the change mentioned above
with the help of a word equation.

(i}  She then collected the ash and mixed it with a
small amount of water. Name the product of
this chemical change. What will be her
observations when she will test the mixture
with blue and red litmus papers? Give a
suitable reason for your answer.

Depletton of water table is a matter of serious concern

these days. Explain how the following factors deplete
the water table

{) increasing population
(i)  agricultural activities.

Certain everyday conditions can be treated with use
of acids or bases. Complete the following table related
to these common conditions.

Condition Treatment Reason for choice
of treatment
(i}  Antbite
(i)l Excessively
basic soil
(i) Acidic
factory waste
(b) What is acid rain? How do excess of carbondioxide
and sulphurdioxide lead to formation of acid rain? (5)
PART-C (BIOLOGY)
Answer the following in one sentence : [1xd=4)
(a) Brijmohan is a farmer who prefers either clayey or

foamy soll for growing wheat and gram. Give a suitable
reason for his choice.

(5



Q3.

[b]  Our RECs contain a red pigment called haemoglobin.
Why Is the presence of haemoglobin important to all.~,
the cells of the body?

{¢) Farmers prefer growing crops like potato by the
method of vegetative propagation. State the
importance of vegetative propagation for plants.

ld]. Thin walled blood vessels called veins are
characterised by the presence of valves. Why do veins

have valves?

Fill in the blanks : {1x3=3]

{a) An alga like Spirogyra breaks up into two or more
pleces by the process of

(h) A type of blood cells called form a clot and
stop bleeding at the time of injury.

fe)  The process of breaking down of rocks by the action
of wind, water and climate is called

Give a technical term for the following : (1x2=2)

[a) The transfer of pollen from the anther to the stigma
of a flower.

{b) A throbbing movement felt on the inner side of the
wrist due to the low of bleod in the arteries.

Answer briefly : (2x3=6]
{a) The best soil for growing plants is loamy soll. Write
two characteristics of loamy soil that make it suitable

for plant growth.

() Define excretion. Write the excretory products of :
i  land animals like lizards
(1} aguatic animals Illr.l_: fish

(e} Inprocess P the male gamete fuses with the female
gamete to form Q" which undergoes divisions to form
structure 'R’ Name 'F, ' and 'R'.

(6}
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~ After process P, what changes take pla& in the ovary
“ and other parts of the flower?
5. Answer in detail : (3x2=6)

[a] Given below are the figures of some seeds, Identify
the seeds and write their mode of dispersal.

How is the process of seed dispersal advantageous?

b} Draw a neat, well-labelled diagram of a soll profile
and state important features of the layer below the
uppermast layer.

@6. Given below is a figure of structure of human hearL.

fa] Label parts i, "' and ‘vill"

(b) With the help of figure given above complete the
following with respect to the circulation of blood.

bleod enters (il through vena
cava and gets filled in 'il. From there i
takes the blood to the lungs. il brings

back blood to v from where it enters
W' _This blood is distributed to all the body
partsby ___ vil____. ; it (5)°

17}



SACHDEVA GLOBAL SCHOOL

SA2-VII = /2013
! SUBJECT : FRENCH '
Time : 3 Hrs. ' M.M.: B0
General Instructions : '
(il  Read all the questions very carefully.

(i)
(i)
fiv)

Al.

Al.l

Number the answers as given in the question paper.
Write in a neat and clear handwriting.
Write the answers in complete sentences.
Section-A (Compréhension Ecrite)
Lisez et répondez :
Paris, le 1% Septembre
Cher Denis

Comment ¢a va? Moi, je vais blen. Dans cette lettre, je
déeris ma féte préférée. En France, on a beaucoup de fétes
comme le nouvel an, Mardi Gras, Pigues. Ma féte favorite
est Noél.

A Noé#l, on décore le sapin avec des étoiles, des bonbons et
des boules. On met les cadeaux pour notre famille sous
larbre. Le pére Noél donne des cadeaux aux enfants. Le
réveillon est le repas dut soir de Noél. On décore la maison
avec des guirlandes électriques. On s'amuse beaucoup.
J'aime bien cette fete parce que je regois beaucoup de
cadeaux.

Décris-mol ta [Ete lavorite.
Amicalement

Louis
Répondez : (2x2=4])
1. Quelles sont les fétes de France?
2. Avecquoi, décore-t-on le sapin?

Al.2 Complétez avec un mot du texte : (4

On décore la maison avec des
Ma féte est Diwali.

Jécrizune A mes parents.

Jemange______ dechocolats.

(1)

ol o o o



FERE

Lisez et répondez
Bonjour, Je m' appelle Mireille. J° habite en France. Les}
Frangals aiment bien faire du sport et mof aussl. Quand il
neige icl, on fait un bonhomme de neige. Les gens aiment
aussi faire de la volle et du rafting dans la riviére. J" adore
les montagnes. J' aime beaucoup faire des randonnées dans
Je Mont blane. J° aime aussi aller au bord de la mer pour
jouer au volley avec mes amis. La France est intéressante,
on peut pratiquer beaucoup de sports ici.

Répondez : ' 3
1. Quelle est la nationalité de Mireille?

2. Qu'est-ce que Mireille adore?

3.  Est-ce que les Frangais aiment faire du sport?
Dites Vrai' ou 'Faux : (2}
1. LaFrance n' est pas intéressante,

2 Mireille n' adore pas les montagnes.

Cochez la bonne réponse @ (2)
1.  Mireille alme jouer au aveée ses amis

(al  wvolley b foot

¢} cricket
2. Les gens alment aussi faire de la voile dans

[a} laplage bl la riviére

fe}  lamer

Section-B (Expression Ecrite)

Décrivez deux fétes [rangaises. (5
Nomimez et dessinez cing ustensiles. (5)
Nommez dix moyens de transport en France. (5)
Faites des phrases : (5]
[a} Gateau (b}  aimer
{c)] train (d) fille
(6] classe

(2)
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C2.

C3.

C5.

Section-C (Grammadire]
Mettez les verbes suivants au passé composé :
n____ . lalettre. (poster)
Tuo ____ tondevoir. {finir)
Vous _____leméiro (prendre)
Nous ___ _ lalecon. (expliquer)
Cons__ e colls. ([envoyer)
Mettez les phrases sulvantes au négatil :
l.  Les garcons sont alles au cinéma.
9. 1l est partl avec ton cousin.
3. Vous étes rentrés a midl.
4. Lechien est descendu dans le trou.
5 1l est tombé dans P'eau.

;o W@ o=

Cochez la bonne réponse .

1. Le ballon est la table
(a) sur b a
() dans

2. L'écoleest ma maison :
() sous (b) présde
) 4

3. hiver, il fait trés froid
(a) celle b} el
fc) ce

Retrouvez les phrases

1. auflyrﬂéefmnffrérEfw

2 avons / nous / dansé / beaucoup
3, stylos / ces / sont { nolrs
Remplacez le-présent par limpératif :

1.  Vous parlez vite.

5 Tuchoisis une robe.

3.  Nousallonsa I'école.

3

(5)

(5

(3)

(3)

(2)



C¥.

Co.

C10.

Dl.

Conjuguez 'PRIER au passé composé : a Faffirmatif. (3]

Compléz avec : ‘ce’, ‘cet’, ‘cette’, ‘ces’

1. voitures sont grandes.

2. femme est belle.

3. acteur est grand.

4. stylo est nofr.

Chassez | intrus : (2)

1.  musicien / acteur / directeur / facteur.

2. Jolie / mince [ belle / grand.

Corrigez les fautes : {2)

1.  Vasala bibliothéque!

2. Ces fille parlent beaucoup.

Conjuguez les verbes au présent . (2]

1. I en retard. (se révelller)

2 Tu avec de l'eau frotde. (se laver)

Section-D (La culture et la civilization)

Complétez : (5)

1. On prépare la galette pendant la féte de

9. Le 14 juillet, c’est de la France.

3. Il compose de la musique, il est :

4. Tl joue au cinéma, il est

5. Onprie pour les morts pendant la fete dela

Dites "Vrai' ou Faux : [VaxE=3)

1.  Aneesh adore le jambon.

2. Manuel boit une lmonade.

3 Le pourboire est I' argent donné par un client a un
gargomn.

4. Le week-end prochain, Manuel va au parc
drattractions.

5. Aneesh a écrit une lettre 4 ses parents.

6 Le drapeau frangais est bleu, blanc et noir.

(4)
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Cochez la bonne reponse : (9)

1.

11 fait du pain, 1l est

{a) boulanger ()
¢} directeur

acteur

2. est la féte de la familie en France
fa) MNoél (b) laféte nationale
(¢} laToussaint
3.  Aneesh n'aime pasle
ja) jamikon by fromage
[0) Jus deraisin
4. actrice est jolie
fa) cet cetie
] «ce
5.  Manuel mange un sandwich au
[a) jambon fromage
i) chocolat
Reliez les colonnes : (2)
1. lecoq fa) parfumeur
9. chanel M) laferte
9, laMarselllaise {c}  wvoiture
4 Renault [d@ 1 hymne national

(5]
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Roll No. Date Class : VII Section
SUBJECT : SCIENCE (MULTIPLE CHOICE QUESTIONS)

Time : 30 minutes M.M.: 15

General Instructions :

(i) Attempt all questions.

fif)  There are 15 multiple choice questions in total. Only one of the options in

every question is correct. Put a (/) against the correct aption.

it} Each question carries 1 mark.

fiv)/ Do not use white fluid on these sheets.

v}l  Use only pen to mark the answers. :

(1. Rahul took a tin can full of steam and put a tight
lid on it. Then he poured cold water on it. The tin
can-crushes because
[a)  cold water exerts pressure
(b)  warm air is lighter
(e}  cool air contracts
(d} both {a) and (c)

Q2. One end of objects (such as a steel spoon, a plastic scale, a pencil and a divider) is
put in a beaker containing hot water. In which of these objects the other end will get
hot?
fa] steel spoon, plastic scale k) penecil, plastic scale
(c)  steel spoon, divider (d) divider, plastic scale

Q3. [dentify device "A’ in the [ollowing diagram.

(a) electric bell (b] electromagnet
(c] element (d] fuse
Q4. One litre of water at 30°C is mixed with one litre of water at 50°C. The temperature

of the mixture will be
[a) BO°C (b)  more than B0°C but less than 80°C
£l 20°C [d] between 30" and 50°C

3/2013 (B-1)



5.

Q7.

When the current is switched on through a wire, Bulke o acm
a compass kept nearby gels deflected from its ——
north-south position due to é

(a) magnetic effect of electric current

Comipass
(b) lighting effect of electric current )
(] heating effect of electric current us l l-{ =
[dl bath (a) and [c) Bokkery

A student took hydrochloric acid and added few drops of indicator ‘Z' to it. He observed
no colour change, Then he gradually added sodium hydroxide solution drop by drop
until he observed a colour change. Indicator *Z' used by him 15

[a) litmus _ {b) china rose

fe]  turmeric {d] phenolphthalein

In the activity mentioned in Q6 colour changes with sodium hydroxide because
(@l sodium hydroxide is an acid

() sodivm hydroxdde is a base

(¢ sodium hydroxide is neutral

(d}  sodium hydroxide is a natural indicator

Observe the given set up. The change taking place in ‘A’ s -
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[a] irreversible chemical change (b}  reversible chemical change
(c)  Irreversible physical change (d)  reversible physical change

In the set up given in Q8 carbondioxide produced in A is passed through lime water
taken in B. This turns lime water milky due to the formation of

(a) Caleium hydroxide i) Calcium sulphate
(¢] Caleium nitrate {d) Calcium carbonate

(B-2}
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Q10.

Q11.

12,

Q13.

Ql4,

Q15.

An jron nail s dropped in copper sulphate =
solulion in figure "A', After some time colour ﬂhmii
of solution changes and some subsiance

deposits on iron nall as shown In figure ‘B é

Colour of copper sulphate solution changes A

from

(a}  blue to green (B)  green to blue

] blue to brown {d)  brown to blue

X s the active stage in the life cycle of silkmoth. In this stage it grows enormously
and eats day and night. Identify the stage ‘X",

fa] pupa b} adult

() caterpillar id) both'a'and ‘e

Rohan is observing the permanent slide of leaf
epidermis In which he wants to study stomata
properly. The correel labelling of stomata is

(a) I - stomatal pore, IT - guard cell
(b)  1- guard cell, Il - stomatal pore
(] I-nucleus, II - guard cell
[dl - guard cell, IT - nucleus

The tip of the hyphae in Rhizopus (bread mould) bear swollen structures covered by
a protective coat which encloses the spores. Identify the swollen structures

(a] rhizoid (bl  sporangia
[c)  sporangial wall (d) spore coat

It takes 20 minutes for 500 ml of water to percolate through a soil sample. The
percolation rate for this soil sample is

{al 15 mi/min. (b) 35 mi/min,
el 25 mi/min. (d} 45 ml/min.
Rashmi prepared a setup to demonstrate

the transportation of water through
potate tuber. But to her surprise, the
water level did not rise In her apparatus.
The probable reason was

(a)  she used a peeled potato

bl dilute sugar solution is used inside
the potato cavity

(e} level of water in the petridish s
below the level of the pin

d) potato with flat base is used to
make it stable in the petridish.

(B-3)



